

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$22,550,533.13	\$20,633,390.74
Contributions	\$0.00	\$985,304.20
Withdrawals	(\$1.87)	(\$133,604.15)
Transfers In/Out	\$0.00	\$0.00
Income	\$16,936.05	\$60,339.13
Administrative Expense	(\$308.31)	(\$1,778.59)
Investment Expense	(\$493.18)	(\$4,756.30)
Investment Manager Fees	(\$25.61)	(\$813.21)
IFA Loan Repayment	\$0.00	(\$16,813.14)
Adjustment	(\$817.77)	(\$817.77)
Realized Gain/Loss	\$65.95	\$7,199.06
Unrealized Gain/Loss	(\$317,431.09)	\$720,807.33
Ending Balance	\$22,248,457.30	\$22,248,457.30

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	7.26%	06/24/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

MARKHAM POLICE PENSION FUND Fund Name: MARKHAM POLICE PENSION Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	(\$14,695.80)
Withdrawals	(\$1.87)	(\$1.87)
Transfers In/Out	\$1.87	\$14,683.07
Income	\$0.00	\$14.60
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$0.00	\$0.00
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	1.460
Unit Purchases from Additions	0.187	0.187
Unit Sales from Withdrawals	(0.187)	(1.647)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$0.000000	\$10.653102 \$0.000000

Performance Summary:

MARKHAM POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	06/24/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$22,550,533.13	\$20,632,981.66
Contributions	\$0.00	\$1,000,000.00
Withdrawals	\$0.00	(\$133,602.28)
Transfers In/Out	(\$1.87)	(\$14,257.49)
Income	\$16,936.05	\$60,324.09
Administrative Expense	(\$308.31)	(\$1,778.59)
Investment Expense	(\$493.18)	(\$4,756.30)
Investment Manager Fees	(\$25.61)	(\$813.21)
IFA Loan Repayment	\$0.00	(\$16,813.14)
Adjustment	(\$817.77)	(\$817.77)
Realized Gain/Loss	\$65.95	\$7,185.60
Unrealized Gain/Loss	(\$317,431.09)	\$720,804.73
Ending Balance	\$22,248,457.30	\$22,248,457.30

Unit Value Summary:

Current Period	Year to Date
2,261,821.304	2,175,587.293
0.000	101,270.210
(82.213)	(15,118.412)
2,261,739.091	2,261,739.091
\$9.970077 \$9.836881	\$9.483855 \$9.836881
	2,261,821.304 0.000 (82.213) 2,261,739.091 \$9.970077

Performance Summary:

MARKHAM POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	5.04%	07/18/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

Statement of Transaction Detail for the Month Ending 05/31/2023

MARKHAM POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
MARKHAM POLICE	PENSION				
05/25/2023	05/26/2023	Transfers In	1.87	10.000000	0.1870
05/25/2023	05/26/2023	Redemptions	(1.87)	10.000000	(0.1870)
Transition Pool					
05/25/2023	05/26/2023	Transfers In	1.87	8.919671	0.2096
05/25/2023	05/26/2023	Transfers Out	(1.87)	8.919671	(0.2096)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(817.77)	9.970081	(82.0224)
05/25/2023	05/26/2023	Transfers Out	(1.87)	9.820810	(0.1904)